
gaves Bjore name 2] :

I ⑰ ⑰xCA Wow kest . U . K .

- ! i i
↓ ↓ ↓ Or CA + D+ -Ex - O

2 : 0 -> 0 - ⑧ -> 0 -> O

↳ ↓ ↓
1 : 0 - A - B -> c - O

24 8 N

0 : 0 - D -> E -> F - 0

f N

- 1 0 - 0 - b -> 0 -> ⑧

↓ d ↓
" ! " !

seek-yak lawd or gije guest .

-- Hr(Ex) - Hi)(y) -H-(Dx) -He(Ex) -H(cx)Ho)Dx) -Ho(Ex)&He/Ca)e .

Il 11

" kart be but Blind im /ing ⑧

coper 4 Il

Coker caberte

n
. Her jeC*ar parega U

. K
.

M Cx : = C
, ige je

Ca:= Cut i da: dat . Hager je

Am (Cx) = An(CE)
,

me T
.

prese No grepustinging je Hn((x)= herdyimdute
Leartmano upeakobattle P : Kerdn- ⑰ Hn(CE) a

-

2=A

P(zx) :
= E(x)

Let

goopr geputtural to mi :

=> -kerdn= ( du (j) = 0

Let GtA

↑ () Id4(x2) = 0

cu cer Kotauto CLA

metaio >Id by 0 () (2 +A) dut (x2) = 0

<=> (*<tA) ocd= her dut

- 12-



&

⑥ je orivegt opepusan . Sprnettwns 1
. ineqeng o usoupefusal

An P :

Gerdn
far P

=> imp Hr(CAD~
Jow go iocaster go je kerb= im dut

.

: Her je -herpckerdn =en
0 = P(x) =

Es() > (2+ A) <3 1d3 = 0

Everettu
y

Cat y Kottante cyue ,
wa my

den ce portant to

Moto and jegtake Hym .

Hu je BI Kotaal Cayt ing .

xid
= 0 3 a coko 1- )B .

· 3a -AlB : = = 0

· 3a = B : (62] = 0 Hm(() = adimduttn

=> (Tyd (n )an+(y) = 3
.

Ho je y
: = st . MagaEac = antily)=(she im date

.

2 : Hace je ximdute , my . 22 = dutc [0 Y4 .

p(x) = (Podute) (Es YC) = P(Eddalyss) = says] = 0

⑧
=> e ker D . I

- 13-



-Gurugrapia scovovinja
Ho je X itoky upon .

In :
= 58: X 18 Heipekugo)
n-curren

Sm(X): = X (An]

Moste us gefuttucau da : Sn(X)-Sn(X)
,
i gatigaro M . K .

Sx(X) : - - - - Snx(X) - Sn(X) -Sn(X)- ...

Centiyapta conoringa rot
. up .

X je :

Hm(X) = = Ha)Sx(X))
,

m = No
.

Ano
ye (X ,

A) wouorowke wap (ACX) ,
mous Rust .

0- Sx(A)= SxIX)t Sx(X ,A)+ 0

to Are yur-York never gaje gust .

j*
... -Hn(A)* An(X)- Hn(X ,A)-Hn(Al - ... - Ho(Al **HolX)* Ho(X ,Al- O

a . Ho je A peinpakis ag
X

. Lokazaiu go j
An(X) = An(A) @ Hn(X ,

AS
,
MANo

.

peete Unwo : A /
↳ !T⑭A

Foamamigi gust . Inpa (X ,A) :

i*
... -Hn(A)** An (X)* Hn(X , A) H(Al- 22s

toi = 11 =2x0ix = 1An1A) = ix je 1-1 = 8 = 0

Kako je 8 = 0
, topipe gunt . Mottel go igalle He KH . 3a MeNo :

0 - An(Al H(X) # An(X , A) -0

in

T

- 14-



Kako je excix=DHA) ,
Two ce obj tus year , my

An(X) = An(A) @ Hn(X ,
AS

,
MeNo

. E

2
. Hea je A=X u i : A-X covacucka exlubaveityga .

-

Jag je An(X ,A) =0 sa meN
.

pereste Tamarajio gut . Tapa (X,
A) :

i*
... -Hn(A) An (X) ** Hn(X ,A)=He (A) -3 00 -

Koko je i Komecka exbubavenyuga ,
ins incre 4 : X-A in .g.

i

AX 40i = DA
,
:04 = 1x

2
=> 4x0 ix =

AnCAl ,
ixo4x = Dix

=> is je usowpasan .

Us gurt .
Mnwo :

0 = kerix = im = 2 = 0 = jx je "
= Hn(X,

Al =

GryHnIX)= imix = Ker jx = ja = 0 3
· xo

je AX , ofge bastn :

A cere be RouteltueHo(X
,
Al = 0 <=>

-- X
regate vobesatom of

E· Fi(gu) = in
Liab Hi(XVXzV ... vXal = Hi(X) * Fi(Xzl * - - - Fi(Xe) .

3
.
Hea je BCS" ,

IB1=m
,
m

,
neIN . Cypegrin

(a) Hi(SMB) ; (0) HilSY ,
B) .

peaerte (a) S"B = R" B,* ... ga-1

A M-1

1B1) =1 - 1

- 15-



X
X !- ..... - X X -------------------------g4-1 ... ga-X

X

e

X X

- ⑧ la
-

-

X M- 1

-

SYB S4B1 m- 1

E=> FilsIB)= Iti)Sgu)
= no (get)= a n

(5)trocarparo guest. inque (S , B) .

... - Hi(B) - Hi(Sn) - HilSY ,B)- Hi-(B) - ...

Arneimu Hi(B)= [** intare
30 i = 2 je Hi(B) =0 ~ Hi-1(B) =0

,

no

je Hils" ,
B)= Hi(s)

39 i = 0 je to(54 , B) = 0 jp B were der Korteture igunte id .

of S"

3a i = 1 now :

... #(B)- I1(54) - Hi(52 , B) -#(B) - Fo(S2) ----

I I

ty undwo kext . Rigace yea /jep je H(B) croraytal :

- 1

0- # (52) -HlS ,Bl- IM - O

*
Garagste
Im

=> H-(54 ,B) = I(52)0ym-= S Im E
· Ako je (X ,

A
, B) Fioraka impojke ,

BEAEsX
,

marwo giust .

- Hn(A ,B)
**

An (X , B) I
S

An (X ,A) * An-- (A , B) - ...

- 16-



Never (o usegorby] Ha cy A
,
BIX ing . intAvintB = X

. Maga

utkeybujo i : (B ,
ArB) <> (X,A) ungykyje usocopefousar :

ix : Hn(B
,
AnB)s- AnIX ,A) ,

meNo
.

4
. Hado je X= XuX2

,
X1

,
X2+Ex

,
NX2-X = % .

Astoun mo A : = X1X2 e mysige
i : (X= A) < (X , A) , j : (X2 ,

A)- (X ,A)
.

Lokosaum
go cy ix u ja motors w u go je
Ha(X ,A) = Ha(X- , A) & Ha(X2 ,

AS
.

perette Ostaumo utkysige : A(X ,
x2)

-jD in
(X1 ,A)- >(X,A)-> (X, x1)

i
-②i -G'

(X2 ,A)

Samorou inprice (X
,
Xe

,A) m (X
,
X2

,A) Hou gogy glad gutt .

i
Ha(X ,X2)

R*- ↑jx③

... HaX ,
A) HalX ,

Al# HalX,X1)- ...

-ja kk
Ha(X2 ,

A)

R
!

① Koryupr= Konynupo ,
② Konytmpr= Komipe

ever a

receyoriy iprepenta the ka
know goje gry

kx u & usopefasur .

(us youber sagains we make vokaxam go uews go matertuls

very o veyaltry) - 17-



Rx = jo ix uso
.

It je ,
1-1"

bix= Isojx uso.) jx je ,
1-1"

You
go iaten go ji Ha(X ,A) = Ha(X , A) & Hm/X2 ,

A)
.

AAno unow gugripore : Acts ( age je
B =Perh * img . 0

gb↑e
B

Laura
, how kult .

-Park-> BA c- 0
↑-----

gol-
u ako je hogof-fof- Dc ,

two as obj us yea ,
i je

B= Kerh ⑦ 2

Kako
je f

: log mo
,
wo je g ,

11"
,
wo je LEA img , i -

A
q1- 1"

BE kerh im g .

Aprnetuo oby retry0 pol Ha(X ,X2)* to

giyat③ ↑jx
4

Hea(X ,
A) Ha(X ,

Al

goriano :

HalX,Al= kerj  im 2x = im jx imx = Ha(X
,A) -Ha(X2 ,A).

A
i* e jx cy , 1-1"

- 18-



Lineie iraukakarta
Heka je f : S"S"

,
MeINo

. Maga wasso

fa : #m (S") -> #n(S")
it #

geop .

Cineries ieaukabape o je degf : = fx(1) .

Armiuo : fx je mottebe ca deyf :

fx(x) = fx(x-1) = x - fx(1) = x - degf

Route : I, g : SYS Heupekuga
M f = g = degf = degg
(2) deg Isn

= 1

13) deg(90f) = deyg · degf
gokes : deg(gof) = (90)x(1) = gx(fx(1)) = qx)degf) = degg-degf

4) F = const = degf= 0

ganes : f Le ipouyuyge
Ho 2S=Dnt

Dn+1 --- g In 0# I

i I
en ixI kSi fx

FA = x0ix = 0 = day f = 0.

15) Ako je 9:: S"-" peeprekcige y agocy H Koopgutanity

seppabat : (c , ..., snt) = (6
, ...

ire
,
-si

, slite
, ...,

Intel
,

olge je day I : =- 1 .

(3) deg Agn = -17 nte (Ast : SieS" attimogato ipecaupobalbe)
- 19-



TOR E :

[Fig : S-SY ing .
(ece (4) f(x1+g() > f F asog

Howegungal two jef : S"-S" Herpckugto u degf # (1)n+1 , age
I nwr grey mawky .

goxas inc . f(x) +x = Dgn/x2) 30 Cake x tS
"

= frasnoDgn= asn => deyf = degagn=f
NH

G B

Hoareguya 2 Ako je f : S"-S empekugto i degf 1 , age

notige xotS"ing . f(x) = -x0 -

goras inc
. F(2)+-x= as(x) sa deako xt SV

> fr Asnoasn= Dsn = degf = deg Dsm =14

Hogetnik : Lejanbo give 6 Ho
invi

.
.

X je xomomopedusar
7 : G -> Homeo(X) (iry 41C) = 1x m 4(g, g2) = 4191 1041gw))

Kopuninter estoncy &g :
= <(g) .

Lejanbo je alsagto alo sa gfe , Yy Here daktual marake .

Jeghto gejante Im At SIM-CR
**

=D je gain ca :

4 E = (ei. ei 2 C-

n

Ye = 4041
!

Ya = 4,
0 ...o 41

en

R
"

Ym = &
,

o ..-o4e = 1s
um

m
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301-k = M-1
, Up sapopr doky oopgutany

zo gas
k .*,

to

onegit Hena queux Tanaka .

-> Lejanso je Modageto .

- 21 -


